Dr. Bryan Carrillo Knowledge Checks Decomposition Review 2

1. Take f to be the function given by

3 if —3<2r< -1
f(z) = (%)Hl—kl if —1<z<l1
-2z + 3 if1 <z <3.

Identity its domain.

(-3, 3)

2. Take f to be the function given by

3 if —3<2r< -1
f(z) = (%)Hl—kl if —1<z<l1
-2z + 3 if1 <z <3.

Identity its domain. Sketch f.
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3. Take f to be the piecewise function whose graph is given below.
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It is a piecewise function made up of linear and quadratic functions. Determine a formula for f.
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4. Take f and g to be the functions given by

3x—2 ifz <6

flz) = 3:—16 ifz > 6.

r—3 ifx <4
—x4+9 ifx>4

and g(z) = {

Solve the inequality f(x) > g(x) without using graphing software. Write your answer as a union of
intervals.
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Solution X<-% None 25 7%
on resitiction 4

Final answer (‘°°) DU fé,gas:
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5. Take f to be the function given by

fla) = {3x2 ife <2

—z® ifd<x<5b

and g to be the piecewise linear function whose graph is given below.
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Write f o g as a piecewise function and state its domain.
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6. Take f and g to be functions whose graphs are given below.

Yy Yy
5 Graphof f 5 Graphofyg
4 4
\ 3 f 3
\ 2 / 2
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1 / 1
2 2 /
3 3

Solve the inequality f(x)g(z) > 0.

Fim\ answer

G1.5,-0.53v 0.5,2.5)

7. Take f and g to be functions whose graphs are given below.

Yy Yy
5 Graph of f 5 Graph of ¢
4 4
\ 3 f 3
\ 2 / 2
\\ \1 4
-4 -3 -2 —1\ 1 4 X -4 23 -9/ 1 1 ) 4 X
1 / 1
2 2 /
3 3

Solve the inequality f(z)g(z) < 0.

Final Answer
4,-1510 05,15 JV [254)
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